Answers

1) a) 40cm
b) Im 20cm
c) Im 720cm
2)
cm = m
200 = 2
500 = 5
900 = 9
300 = 3
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1) Frances is not correct. Amanda’s car travelled 219¢m, which is further than 20%em.

2) Oliver is correct. There are multiple ways to answer the question. For example if the whole is 612¢m,
the parts would be ém and 12 cm. If the whole is 212¢m, the parts would be 2m and 12¢cm.

3) This is sometimes true. 7m is longer than 27Scwm, but Im is shorter than 27Scwm.

1) a) A - Danny, B - Annie, C - Chris, D - Angela @
4

b) Various answers are possible:
My plant is 123cm tall, my plant is between 120cm and 130cm tall, etc.

2) Children’s answers will vary.
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